
RACING SPEC

GRK5 レーシングコンバージョンキット
GRK5 Racing conversion kit

本製品内容物
①

② ③

No. 部品名 Parts name 個数
① GRK5 RC メインシャーシ GRK5 RC lower deck 1
② GRK5 RC アッパーデッキ GRK5 RC upper deck 1
③ GRK5 RC バッテリーホルダー GRK5 RC battery holder 2

この度は SHIBATA 製品をお買い求めいただき誠にありがとうございます。
本製品は、 SHIBATA GRK5のコンバージョンキットです。
※組立には、 別途 SHIBATA GRK5 が必要です。



バッテリーホルダーの取り付け
Attaching battery holder

＊3.0 x 2mmスペーサー
＊Aluminum spacer 3.0 x 2mm

＊ナイロンナットM3
＊Nylon nut M3

＊バッテリーポスト
＊Aluminum battery hold down post

＊Oリング
＊O-ring

＊アルミ皿ワッシャーS
＊Rosette washer S

＊ビスM3x8mm
＊Countersunk  head screw 

＊3.0 x 3mmスペーサー
＊Aluminum spacer 3.0 x 3mm＊皿ビスM3 x 15mm

＊Countersunk  head screw M3 x 

注：GRK5 レイズドプレートを使用する場合
Note: When using GRK5 raised plates

GRK5 レイズドプレート
GRK5 raised plates

モーターマウントに干渉するため、バッテリー
ホルダーのスペーサー量を変更してください。
Change the amount of spacers in the
battery holder because of interference 
with the motor mount.

スペーサー量を調整します。
Adjust the spacer amount.

アッパーデッキの取り付け
Attaching upper deck

＊ボタンビスM3 x 6mm
＊Button head screw M3 x 6mm

＊ボタンビスM3 x 6mm
＊Button head screw M3 x 6mm

＊皿ビスM3 x 8mm
＊Countersunk  head screw M3 x 8mm

＊GRK プレート (大 )
＊GRK plate（L）

R31S059付属のフラットアッパーデッキ
マウントを使用することも可能です。
Flat upper deck mounts supplied with
the R31S059 can also be used.

＊：GRK5付属部品を使用します
＊: Use the parts included with GRK5

A B

C D

＊１ 使用するサスマウントによってギアボックスと干渉する可能性があるため、 
GRK5 レイズド プレートの使用が必要になる場合があります。
＊１ Depending on the suspension mount used, the use of a GRK5 
raised plates may be necessary due to possible interference with the 
gearbox.

＊２ 52.8mm サスピンの変更、サスピンスペーサーの調整が必要です。
＊２ Change to 52.8mm suspension pins and adjust the spacers.

リアサスマウント取り付け位置について
Rear Suspension Mount Mounting Position

サスマウント取り付け位置
suspension mount  position

RF、RR
A、C　標準位置　Standard
B、D　＊1

52.8mm A、D　＊2

サスピン長
Suspension pin

49.0mm




